Steel Pull / Stainless Steel Pull / Aluminum Pull

UNF/UNFS/UNFA um-= war

[UNF-H-CR |
[SUS EESIEY [UNFS] N\ UNF-SH-CR
. UNF-CR RS N\
A * BRESICLY. 9T - HE - RELENBRTEET, . NS R /
! \ wRES 547 HE - RELE '
Egy 7 254 —)L8Y
' UNF-CR H=37 JOLXvF '
<7 unes B 2FULAY
i ﬂ ‘@WT H=37 NUIVEREE
1|1 1 11 ]
il il il Z2EIAS PIVEZOLS
UNFA-BF H=37 INTWE
L1 M
B4 FILSTOLE
L UNFA-BK H=37 pE2E
NARIYaVIALTF ATF4—IUE
UNF-H-CR H=45 JOLXYF
NRIVIVIALT | AFVLRB
SLFEA H=45 NUIVEREE
.E§;§E MATAE - WHAIGNBK DT T H A hEZEL S, SEMIEAZHENLS  F 25 4—)LE
UNF-2005H-CR o :IE:I\?\?E#%’EMS»(? i?ﬁi;;
‘ LA H=60 INUIVEREE
N ° . f
UNF-200SH-CR-P o 373V TR DI RO TSRV (SUSXM75) HE- LD O rors
‘ L EHELET. AUHEY —EZ (RIES) ERE<RE O, UNF-CR/ UNF-H-CR / UNF-SH-CR UNFS / UNFS-H / UNFS-SH UNFA-BF UNFA-BK
AU b $5330 SUS304 FILZZOLES FIEZOLESE
H—E2Z JOLXvF NUILEREE N e BERE (DVHLE)
RUMABY—EZ (BIRE) 2CAROEERR. BREEDFRRC[P]=Em AREFUdERILL
LTLREL, (RUHEY—ER) SUSXM7 SUSXM7 SUSXM7 SUSXM7
UNF-CRE:2-3E o ar E ek B UNFS |-+ 2o AP Cp L B mm |UNF-H-CRIAR G CPEVZ £ ar E o) B UNFS-H AR SPEVZE AP S Wy e | &4 mm
28 28 FEmET - RUREY—EZ oE o HraEE - RURBY—EZ
eyl T L R b b L i Bt (N) HE(g) ALY il T I b In L M N HE(E)  oyqx
UNF-80-CR UNFS-80 80 10 (37 |27 9 |10 |M5 |1000 76 M5x12 UNF-80H-CR UNFS-80H 80 |10 |45 |35 9 (10 |M5 |1000 86 M5x12
UNF-100-CR UNFS-100 100 10 (37 |27 110 |10 |M5 1000 88 M5X 12 UNF-100H-CR UNFS-100H 100 (10 |45 (35 110 |10 M5 1000 98 M5X12
UNF-110-CR UNFS-110 110 10 |37 |27 120 |10 |M5 |1000 95 M5x12 UNF-110H-CR UNFS-110H 110 (10 |45 |35 120 |10 |M5 |1000 105 M5x12
UNF-120-CR UNFS-120 120 10 |37 |27 130 |10 |M5 1000 101 M5x12 UNF-120H-CR UNFS-120H 120 (10 |45 (35 130 |10 M5 |1000 111 M5x12
UNF-125-CR UNFS-125 125 (10 37 27 135 10 |M5 |1000 103 M5X 12 UNF-125H-CR UNFS-125H 125 (10 |45 (35 135 |10 M5 |1000 113 M5X12
UNF-160-CR UNFS-160 160 (10 |37 |27 170 |10 |M5 1000 125 M5 12 UNF-160H-CR UNFS-160H 160 (10 |45 (35 170 |10 M5 |1000 135 M5x12
UNF-200-CR UNFS-200 200 (10 137 |27 |210 |10 |M5 |1000 150 M5x12 UNF-200H-CR UNFS-200H 200 10 |45 35 (210 (10 M5 |1000 160 M5x12
UNF-250-CR UNFS-250 250 |10 |37 |27 260 10 |M5 1000 180 M5X 12 UNF-250H-CR UNFS-250H 250 10 45 |35 (260 10 M5 1000 190 M5X12
*1: AOFCHEATZIHSHETT. *1: ANOFCHEATIFEHETT,
YA g7 - 7us=oss: NofE [TEASgEs (7 PSSO LM BERE 844 - mm [UNF-SH-CRE TS R e A C O TR UNFS-SH TN e R e Ca It 6 mm
FEmEr RUREY—ER = = ] P ——
o L A H h L Lf M = ¢ & & SFEEE — RUMEY—ER
& 1 (N) HR(g) RUYAX Eevli e L L L L ELR GO 7 BR@®)  popez
UNFA-80-BF 80 |10 37 27 9 |10 M5 11000 27 M5x12 UNF-80SH-CR UNFS-80SH 80 (10 |60 |50 9 [10 |m5 |1000 105 M5x12
UNFA-100-BF 100 |10 37 27 110 |10 M5 11000 31 M5x12 UNF-100SH-CR UNFS-100SH 100 10 60 (50 [110 |10 |M5 |1000 117 M5x12
UNFA-110-BF 110 110 37 27 120 110 M5 1000 33 M5x12 UNF-110SH-CR UNFS-110SH 110 (10 60 |50 [120 |10 M5 |1000 123 M5x12
UNFA-120-BF 120 |10 37 27 130 |10 M5 11000 35 M5x12 UNF-120SH-CR UNFS-120SH 120 110 60 |50 130 |10 |M5 |1000 129 M5x12
UNFA-125-BF 12510 37 27 135 |10 M5 11000 36 M5x12 UNF-1255H-CR UNFS-125SH 125 10 60 |50 [135 (10 |M5 |1000 132 M5x12
UNFA-160-BF 160 |10 37 27 170 |10 M5 11000 44 M5x12 UNF-160SH-CR UNFS-160SH 160 10 |60 |50 (170 |10 |M5 1000 153 M5x12
UNFA-80-BK 80 |10 37 27 9 |10 M5 11000 27 M5x12 UNF-200SH-CR UNFS-200SH 200 (10 |60 |50 (210 (10 |M5 1000 178 M5x12
UNFA-100-BK 100 |10 37 27 110 |10 M5 11000 31 M5x12 UNF-250SH-CR UNFS-250SH 250 10 60 |50 (260 (10 |M5 1000 208 M5x12
UNFA-110-BK 110 |10 37 27 120 (10 |M5 1000 33 M5X12 S ——
UNFA-120-BK 120 |10 37 27 130 (10 |M5 1000 35 M5x12
UNFA-125-BK 125 |10 37 27 135 (10 |M5 1000 36 M5X12
UNFA-160-BK 160 |10 37 27 170 (10 |M5 1000 44 M5x12
*¥1: AOFCERATIHEHETT.
7" IVU—2iki% TU— S = P.xxxx / L—Y'ZIEN = P.xxxx
BELEDEL TN 2F VLRS- PV ABOHHGT - BlEiE

N\ NBK @E/17y021 0575-23-1162 info@nbk1560.com https://www.nbk1560.com N\ NBK @/ r7vo21 0575-23-1162 info@nbk1560.com https://www.nbk1560.com



